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Akap4 A-kinase anchor protein 4
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Akap4 A-kinase anchor protein 4
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Akap4 A-kinase anchor protein 4
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Akap4 A-kinase anchor protein 4

#3192-3192 NL: 2.83E3
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Akap4 A-kinase anchor protein 4
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Akap4 A-kinase anchor protein 4
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Akap4 A-kinase anchor protein 4
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Akap4 A-kinase anchor protein 4
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Akap4 A-kinase anchor protein 4
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Akap4 A-kinase anchor protein 4
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Akap4 A-kinase anchor protein 4
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Akap4 A-kinase anchor protein 4
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Akap4 A-kinase anchor protein 4
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Akap4 A-kinase anchor protein 4
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Akap4 A-kinase anchor protein 4
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Akap4 A-kinase anchor protein 4
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Akap4 A-kinase anchor protein 4
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Akap4 A-kinase anchor protein 4
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Akap4 A-kinase anchor protein 4
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Spata18 Isoform 1 of Spermatogenesis-
associated protein 18
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68 kDa protein
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Akap3 A kinase (PRKA) anchor protein 3
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Akap3 A kinase (PRKA) anchor protein 3
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Akap3 A kinase (PRKA) anchor protein 3
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Akap3 A kinase (PRKA) anchor protein 3
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Akap3A kinase (PRKA) anchor protein 3
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Odf2 Isoform 3 of Outer dense fiber protein 2
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Odf2 Isoform 3 of Outer dense fiber protein 2
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Odf2 Isoform 3 of Outer dense fiber protein 2
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Odf2 Isoform 3 of Outer dense fiber protein 2
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Odf2 Isoform 3 of Outer dense fiber protein 2
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|lzumo sperm-egg fusion protein 1 precursor

Relative Abundance
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Izumo sperm-egg fusion protein 1 precursor
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|lzumo sperm-egg fusion protein 1 precursor
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|lzumo sperm-egg fusion protein 1 precursor
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|lzumo sperm-egg fusion protein 1 precursor
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Uncharacterized protein C20rf57 homolog

Relative Abundance
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Uncharacterized protein C20rf57 homolog

= &= a 4 4t »ie € <= |
LT For scan: cap2,. 1176 Frec.
Fod's: (k= +15.93432) [STY'H +73.96633)
#1176-1176 NL: 6.29E3 Liuted i | H | g |
I_ I I
1 T 102.05 -1z
= o 20112 1365.50 0 11
100 3 =1 36512 126643 10
] 4 2 46517 109943 9
95 = = 55221 100235 &
m [5 o BE7 23 21535 | 7
90; 7 = 75427 S00.32| B
= = P S52.52 F13.20| =
i =] T# 1063 54 55523 4
85— 10 [ 1191 .40 404 21 =
3 11 E 132044 FEERI-
80 1z [ - 147 11 1
75—
3 = = oI 4+ 4 4 s €» & DI ||
65 7 DTA for zcan: cap2. 1176 Frecursor io
7 kod's: [M* +15.93432] [STY'H +79.96E33)
° 60 AA A | B | W | z |
S 557 2 L - z
° B 1 T 5153 - 1z
3 ] 2 w 101.07 633.25 11
< 507 3 =T 154 56 EIE72 10
2 J 4 [ 23309 55022 =}
T 45 5 = 276 A1 501 69 =
& ] =] [} 33412 45315 7
40 7 = 377 .64 400 66 [
3 a e 441 67 IST S 5
B =] T# 53217 29312 4
35? yZ1 10 fe 59620 202 E1 3
] 584.9 11 E 660.72 135.55 2
307 12 K - 7406 1
- +2
J Y10 s
25— 633.9 10994
20—
153 ye'
n b+1 800.3
10 3
g 368.1 2 v
7 Yo
5 b5’ vz v 5504 b2t 12663
z zios 2163 | fowa i) 1 NIl ey |t
0 T 1T \ 1T T \ = i h‘i - ‘“‘\w \M T “‘\”H f* : imw [M\ ”‘”\‘mim“ ‘\M”a I ‘ I \“ ‘\ ‘ \ WH W 4 \H‘ I ‘MVMVL “‘”\ m‘iu“ ‘\Hh \‘ “L\m‘“\m ‘\“m “‘iw \H T = O M\” ‘m‘i “”H\ . wi“ i“h T ‘ W\h \‘ \H T \ T T T
0 100 200 300 400 500 600 700 800 900 1000 1100 1200 1300 1400

m/z



Uncharacterised protein C2orf57 homolog
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Fabp9 Testis lipid-binding protein
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Fabp9 Testis lipid-binding protein
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Fabp9 Testis lipid-binding protein
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predicted similar to FLJ44048 protein
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Uncharacterized protein C70orf31 homolog
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Uncharacterized protein C70orf31 homolog
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Theg Isoform 2 of Testicular haploid
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Dynein intermediate chain 1, axonemal
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predicted similar to kinectin 1
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Solute carrier family 2, facilitated glucose

transporter member 3
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predicted similar to pleckstrin homology domaln
containing, family H (with MyTH4 domain) —-

member 2
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predicted similar to pleckstrin homology domain

containing, family H (with MyTH4 domain)

member 2
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Testis-specific actin-related protein 3
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Hspb9 predicted to Heat-shock protein beta-9
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Ube1y1 Ubiquitin-activating enzyme E1
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Gstm5 Glutathione S-transferase Mu 5

= &= == = Qg
DT For scan: caps, 2477
FAod's: [F>* +15.994392] [STY'H 73, 966322]
#3477-3477 NL: 8.69E4 SLr = o |
I~ I~
1 e 165 001 - 10
=2 (K =15 .04 1162 .53 =]
1005 = e 414 11 1021 .55 =
] = L SZF .19 o9z=2 40 i
95— = i SSad 21 SOo S0 (=1
1 = ~ TAT .25 TS2 ST =
90— e g a33 S5 i=T=cq =
. = (] 1045 .35 405 .23 =
85 a 1 1161 a7 &S 20 =2
] 10 = - 17512 1
80
755 Hl Displaylons - SMVLGY WD IR
3 = = o+
70; DTS for scan: cap2. 2477
— Fdod's: (k4= +15.99492] [STY'H +79. 96633)
65 An B | w |
] I~ I~
60— 1 =a EER=1 -| a0
8 ] =2 [ 15S.02 sSZ4.79 a
& 55 = b =07 S6 S11 .26 =]
2 . = L 25410 451 74 i
3 50 = [ 29z .61 405 .20 =]
i B = E 7414 A= R-1=] =
2 ] 7 ey AT 1S Zas 16 E
% 45— = (] S24 70 20212 =
x ] a 1 S51 .24 144 51 2
404 10 = - S5 05 1
35— “
a Ye
305 8094
25—
20
. 1 1
151 bi' va “
] 527.1 589.3 v
= 9224 ys
103 10215
— 1 +1
] b7 8 bg
53 | ‘ 933.2 1048.2 11613
& | ‘m ] Lo
[0 o T T T 1 P \H T T i T \”‘h‘”\ i LIS L A O O B
0 100 00 600 700 800 900 1000 1100 1200 1300

m/z



LOC679584;LOC687072 similar to
HoloCentric chromosome binding Protein
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Dnajc5 Dnad homolog subfamily C member 5
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LOC497959 Similar to novel protein
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Rad23a RAD23a homolog
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#3925-3925 NL: 2.04E3
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Plk4 predicted similar to Serine/threonine-protein kinase PLK4
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RGD1309065 predicted similar to CAP-binding protein complex interacting protein 1
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RGD1309065 predicted similar to CAP-binding protein complex interacting protein 1
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Smcp Sperm mitochondrial-associated cysteine-rich protein
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Psma3l;Psma3 Proteasome subunit alpha type-3
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Psma3l;Psma3 Proteasome subunit alpha type-3
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Spas1 Spermatogenesis-associated protein

19, mitochondrial precursor

#2662-2662 NL: 1.81E4
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Spas1 Spermatogenesis-associated protein
19, mitochondrial precursor

#3052-30
O T for scan: driedocapac,. OS2
FAod's: (kA~ +15.99492] (ST Y H +73. 96533]
100— | | — T~
— = Ll =1 1 =R == 1=
| = = e 1= = R b 17FrFr=.7= 1 =
| =+ o =t =] A1 Sa3a S5 1=
95 = L E=1 === 1T 4 1S4 0 1=
| = = TEZ= =4 1349 =4 11
| Gl = =1 = 1 = 1 =51 =4 =}
— = Lt bl AO=2s 4= 11 == =0 =
907 = o 11 =9 a4 AO0s 47 =
| = L) 127 a4 =i s ] Gl
— 11 L) 1 =593 =1 TES a0 =
] 1= S 1455 55 (=T e = =
85i A= 1 A E01 &5 S S0 =+
— 1 =4 = A1A7F=a 7= R === =
| 1= = 1S5S . 7T e e e N =) =
80: Rl = — AFs 1= 1
— |
a Dis playlhomns —
] | = === | = =
— O T2 For scan: driedocapac, OS2
70 PAcd s: (k4= +1 5 99492] (ST H 79 956==)
B | | — T— |
_ l 1 =1 — 1=
657 = Ll 1 =1 O =1 m I ] 1=
— = — 1= 11 ==l 1 =+
| =+ e el e e — [=p=>=2 — 1 3 1=
] = L == 17 = =0 1=
— = =1 ] SV T = e = 11
60
— C = “2=3-1 13 L= =t = 1O
8 : = LT Rl =1 = 71 =l = =
c — = 1 == 1w b =0O= = =
(] 55— 1T — =7 7= =S =T T = -
kel 7 1 — [SI==—=1=1 ==0 . =0 =
c | 1= ~ Taa T3 = =a =
-g — 1= 1 S0 =5 =2T= 1 = =+
< 50— 1 = 1] =1 = 51 =
| 1 = = =22 = A1 == S5 =4
g ] 1 = = [=i=m]=] -1
= .
T 45
[0] -
X .
40—
35—
30—
25—
20—
3 +2
+1
= ba Y12 y+2
155 7732 e
4 prt 4881 - 960.2
i 3
107 389.1 yi
] 545 3 644 3 874
- 3041 | I H\‘ | M\
= byl w . w i b sttt il “‘ i \hH b Ll
uuuum\‘uu‘mwmwm“m‘m\uu“m“mmwm‘uu
0 200 400 800 1000

m/z

ys
1152.4
“‘\\H“M“H hmmhw”w \\h mh\h\\‘\”HH\“\M‘H\H“ ‘N”\‘“‘M\\h\“M‘H\“HuM\HHHHH\“\MM\

1200

+1
Y11

1448.6

+1
Y12
15454

+
b33
16015 | #
| Y13 +1 +1
16445 yqq b1s
1772.8 1858.6

b1
1389.3
bl
12743 |
‘MM \M\‘\‘m\wh\\\h‘H\H‘MMH\H\\‘ \}\‘ g
1400

1600 1800

2000



Zinc transporter SLC39A9
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Similar to RIKEN cDNA 1700052H20
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Uncharacterized protein C90rf128 homolog
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predicted DDI1 homolog 1
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Gsk3a Glycogen synthase kinase-3 alpha

#2096-2096 NL: 5.94E2
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Dnajb6 DnaJ homolog subfamily B member 6

#2358-2358 NL: 1.90E3
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209 kDa protein
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Dnah8 similar to dynein, axonemal, heavy chain 8
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Ppp1r2 Protein phosphatase inhibitor 2
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Rplp2 60S acidic ribosomal protein P2
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Rplp2 60S acidic ribosomal protein P2 _
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116 kDa protein
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Acrosome formation-associated factor precursor
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predicted hypothetical protein
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Fbxo21 predicted similar to F-box only protein 21
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Interferon-inducible GTPase 5
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Cct3 T-complex protein 1 subunit gamma
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Sccpdh Probable saccharopine dehydrogenase
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Atp1a4 Cation-transporting ATPase
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similar to Protein C140rf155
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predicted similar to cancer susceptibility
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predicted similar to Coiled-coil domain-
containing protein 11
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Symbol=Rnf166 RING finger protein 166
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kif13B Kinesin 13B
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predicted SMC2 structural maintenance of

chromosomes 2-like 1
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Relative Abundance

Hspca Heat shock protein HSP 90-alpha
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similar to Tumor necrosis factor, alpha-induced protein 2
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Cd209b similar to CD209 antigen-like protein B
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Akap2 A Kinase Anchoring Protein 2

#3621-3621 NL: 1.36E4
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19 kDa protein
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Atp2b4 Isoform XB of Plasma membrane calcium-transporting ATPase 4
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Similar to glutathione transferase GSTM7-7
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Hrmt111 HMT1 hnRNP methyltransferase-like 1
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Calml3 Calmodulin like protein 3
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predicted similar to RhoGEF4 CG8606-PA,
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58 kDa protein
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Tudor domain containing 3
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Ptges3 Predicted prostaglandin E synthase 3
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Ucp2 Mitochondrial uncoupling protein
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Retinol Dehydrogenase 14
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Spata18 Isoform 1 of Spermatogenesis-associated protein 18
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predicted similar to sarcolemma associated protein
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predicted similar to sarcolemma associated protein

#1822-1822 NL: 1.90E1

1005
95—
90—

85;

80%

75é

70%

65é

60%

55é

50%

+1

1471

Relative Abundance

45—
407
357
30%
25—

20—

15 yZz
B 110.1

+1
Y2
218.1 ,
+
Y3 a
3172 4021
1
I
I
I
I
I
I
I
I
1
b3
1331.1
I
1
1 p
| Ya
! 418.2
: +2
| ys
| 480.7
! +1
| Ye
| 5473 676.4
1
.3

800

+2
Y13
7724

Displaylons - SYASSSTDEEPADPEDLEHEE

Displaylons - SYASSSTDEEPADPEDLEHFE

M Displaylons - SYASSSTDEEPADPEDLEHFE

g5& = t 88 t 828 #
DTA: ME-ALO3Z6ME-Nat L1 C2C3withblanks 10417 | DTA: MG-OL0328ME-Nat-CIC2C3withblarks. 1041.7, | DTA: MG-OLO328-MB-Nat-C1C2C5withblanks 1041.7
- Mod's: [M® +15.93430) [v# +79.95633) (T@ +79.965 | Mod's: (M®+15.99490] [YH +79.95633) (T@ +79.965 | Mod's (M +15.99490) [YH +79.96533) [T@ +79.966
Y16 AA B | v AA B | Y | AA B | Y |
914.0 v v 7 v v v
1 5 168.01 N S 54 51 -2 1 5 5667 N
2 v 33107 295613 25 2 v 166.04 147857 25 2 ¥ 11103 986.05| 25
3 A 40211 2793.07| 24 3| A 201 56 1307 04| 24 3 & 13471 33169 24
4 | = 43914 272203 23 4 s 24507 1361 52 23 4 = 16372 g0s02| 23
5 g BaE14 2635.00] 22 5| & 328 57 131600 22 5 | 5 21838 gra0t| 22
S 82313 246800 21 6 | & 41207 123450 21 8 | =~ 27505 82334 21
7T 92418 2301.00] 20 7T 46259 15101 20 7T 30673 76767 20
8| D 103,21 2199.96| 19 85 D 52011 110045 19 8 D 34707 73389| 19
3 E 1168.25 203493 18 3| E 584 A3 104257 18 3 E 390,09 B9563| 18
10 E 1297 29 195589 17 10| E B48.15 g7E4s 17 0| E 43310 85263 17
1M P 1394.35 1826.84 16 m| P 897 fa 91393 16 "o 46545 g0962| 16
12 & 146535 172879 15 12 A 73320 gE540 15 12 A 43913 577.27| 15
13 D 1580.41 1658.75 14 13| D 790,71 2058 14 13 D 52743 55359| 14
14| P 1677 46 154373 13 14| P 539,24 77237 13 4 P 55983 51525 13
15 E 1806 51 144667 12 15| E 90376 72384 12 15 E f0284 43290| 12
16 D 1921 53 1317 83 11 16| D 561 27 B5932 11 16| D B4118 4398 | 11
7L 2034 62 120261 10 7L 107 &1 B8 10 7L E7e.8 40154 10
13| E 2163 66 108852 9 18| E 1062 33 54526 9 18| E 72189 36385 9
19| H 2300.72 6043 & 19| H 1150 8 4En7e & 19 H 76758 32083 8
0| F 2447 79 82342| 7 0| F 1224 40 #4220 7 0 F 81660 7544 7
2| E 2576.83 57635 6 N E 1288 82 33EEE B 2 E 85961 2612
2| E 270567 s4731| 5 2| E 135344 7416 5 2| E 30263 18311 5
3T 2606.92 4527 4 23| 1 1403 36 Ma64 4 x| T 93631 14009 4
4 v 2905.99 1722 3 24| v 145350 15901 3 TR 56033 1064 3
% & 2977.03 2815 2 25 A 1489 02 10958 2 % A 99301 7339 2
% K 14711 1 K 7406 1 % K 4971 | 1
—|_|\11f{r2;{r3;{;{;{;{;{/ 'I'I\N}GZ,{TM;{A;{;{/ LILI\H/\Z‘?}\”;(;(;(;(;U
bis
961.6
+2
Y17
978.5
+2
! Y18
: 1043. 4
+ +
31/?)51 5 Y1(1) Y1§
1543.6
Y11
L H\ L
14656 | | 16588 18066
““‘\““\““‘ ““\“““\““‘ T \““““\“"\‘“‘\““““‘\““\“““‘
1000 1200 1400 1600 1800

m/z



Akap3 A kinase (PRKA) anchor protein 3
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Akap3 A kinase (PRKA) anchor protein 3
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Akap3 A kinase (PRKA) anchor protein 3
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RGD1304935 predicted similar to pleckstrin homology domain
containing, family H (with MyTH4 domain) member 2
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RGD1304935 predicted similar to pleckstrin homology domain
containing, family H (with MyTH4 domain) member 2
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LOC497959 Similar to novel protein
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LOC497959 Similar to novel protein
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Testis-specific actin-related protein 3
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Sp3111 Sperm protein SSP3111
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105 kDa protein
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Spas1 Spermatogenesis-associated protein
19, mitochondrial precursor
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Odf2 Cenexin 2
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Hypothetical protein LOC501180
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Hspb9_predicted similar to Heat-shock protein beta-9

#1555-1555 NL: 2.66E2
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LOC500060 Similar to testes development-related NYD-SP18
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LOCS501147 Similar to RIKEN cDNA 1700052H20
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Rdh14 Retinol Dehydrogenase 14
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